
Right-side (passenger)
Cylinder head

3/8” x 5” Bolts

3/8” Nylock Nut

3/8” Nylock Nut

1/4” Spacers

1/2” Nut

3/8” Lock Washer

3/8” x 3/4” Bolts

Lower Mount

Upper Mount

3/8” x 1” Bolts

T-Adjuster

1” spacer

06-403
Pontiac Compressor Mount

• Install the lower compressor mount using the head bolts

• Install the upper compressor mount to the lower compressor mount, but do not tighten

• Install the T-Adjuster to the compressor and install the hardware, but do not tighten

• Install the compressor to the upper compressor mount using the 1” spacer 

• Install the T-Adjuster thru the top plate and install the nut and washer

• Slide the Upper Mount forward/backward to adjust to the desired belt groove

• Vehicles with factory-air conditioning pulleys will have three belt grooves on the crankshaft and water 
pump pulley. In this case, the belt should be aligned from the compressor to the rear (3rd groove from 
front) A/C belt-groove

• Adjust T-Adjuster to tension the belt by tightening or loosening the top-most threaded nut and tighten 
the bottom nut to secure into position


